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CO2 RpCO2 CgCO2x rgwx Gw,TES + rghx Gh,TES (2.1)
RpCO2 TES 1 CO2
kg-CO2/
CgCo2 CO2 kg-CO2/MJ
rgw TES
rgh TES
Gw,TES TES MJ/
Gh,TES TES MJ/
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CcOo2 RrCO2
CgCO2x Vgrx Hgx oW, Cw,eco + rgh x Ch,eco
1-rgw 1-rgh
RrCO2 TES 1 CO2
kg-CO2/
Var TES
ma3/
Hg 13A 1m3 MJ/m3
Cw,eco TES
Ch,eco TES
CO2
13A 1MJ Co2 13A
3.1
3.1 CO2
13A
Cco2 CgCO2 kg-CO2/MJ 0.05125 *1
*1) 13A 0 101.325kPa
CO2 2.36 kg-CO2/Nm3 46.04655 MJ/Nm3
CgCO2 =2.36 / 46.04655 = 0.05125 kg-CO2/MJ
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n Mw,ave
rgw 1 m (3.2)
n Mw,ave TES
n Mw,eco TES
gh 1 1 Mhave 3.2)
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